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SA-3H-S(3AH) - MRAS - BES Ol &F o4 INEH Hns2
B4+g 789,005 756,034 32,971
Z0 ¥HEO &2 707,353 681,522 25,831
Foys x8 683,995 658, 164 25,831
BA2Y 174,305 171,305 3,000
201 Yot Fh| 139,055 136,555 2,500
02 232l 139,055 136,555 2,500
OXTIY L el 9,100 6,600 2,500
— %2 % A2 DA 1,500,000 *3CH 4,500 2,000 2,500
405 TH&HF St 35,250 34,750 500
01 AU 22 St 35,250 34,750 500
OZRIEI 7Y 500,000 * 14 500 0 500
HZRX 63,777 45,120 18,657
101 2121l 63,777 45,120 18,657
04JIAHIZRSES 63,777 45,120 18,657
o0l B4 8,657 0 18,657
-J=a 1,030, 0802 +52 * 1 5,151 0 5,151
—Jlgay 1,600, 080! 50%+25| *1% 1,601 0 1,601
— M et 1,600,080 ¥50%+35| +12] 2,401 0 2,401
—sagesy 90,0008 *153] 1% 1,350 0 1,350
—mFE LY 70,0002 *53| 1% 350 0 350
— Zug A 160, 00021 531 +1% 800 0 800
— oA EH 110, 00021 55/ +12 550 0 550
- DS XY 140, 000! *53] 12 700 0 700
— Al2tel4g 7,080% * 150%+4 3| *5% 1% 213 0 213
—BUDIDLY 56,6409« 150%43] 5 12 1,700 0 1,700
—tmay 100,000%! *5% 500 0 500
— YEEOH 1,600,080 #60%+ 15| +12] 91 0 961
R EET] 250,0002! #1213l 250 0 250
— m=l 130 0 130
-28a 4000002 +5% *1% 2,000 0 2,000
X2 289 29 83,823 84,649 4,174
201 YLer2 A H| 48,886 44,712 4,174
01 AL 22l bl 4,150 2,820 1,330
OAr 22/t 4,150 2,820 1,330
—9IRs 2Yay 70,0002 +8% *43] 2,240 1,120 1,120
— I YR 35,0008 6% 210 0 210
02 B2l 44,736 41,892 2,844
ozz2H 44,736 41,892 2,844
—JIE2gy R
94821 #202 Ef x3A] 24 #2524 %22 2,844 0 2,844
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HY2IZH (E+S) 81,652 74,512 7,140

Jl=&l 70,372 63,232 7,140
Jl=34 70,372 63,232 7,140

201 L Et2A | 24,512 20,072 4,440
01 AtR 22l | 24,512 20,072 4,440
OH3217< 5,000& 2004 1,000 0 1,000
OMaH CHbl 1,200 0 1,200
— 2t 200,000& *5H 1,000 0 1,000
— 2= 10,000& *20H4 200 0 200

OX < ALE £ =
70,000 x8H x43] 2,240 0 2,240
202 044l 34,380 31,680 2,700
02 HOHI 31,500 28,800 2,700
O HoHI 150,000& 3 «6& 2,700 0 2,700




